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Specification Response

1 Stage 1000

1.1

Stage 1006 (page14)
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1.2 Stage 1009(page17) : Define system test plan and

mapping with system function
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2 Stage 2030

2.1

Stage 2031 (page3) : Define Essential Use Cases

2.1.1 setTime -> OverviewO| A& A2t &, 228 ¥H, Typical Courses
|

of EventsHfi M= AlZt, &, EWE BZTCHD =0 UACH.

2.1.2 showSW -> Pre-RequisitesOf] A SX|2E7F M#MZF0|0{0f $HCt,




2.1.3 startSW -> Pre-RequisitesOfl stopSW =7} ZQ.

2.1.4 saveRecords -> stopSWHEO|ME M3 7Hs30f t22 Pre-
RequisitesOfl stopSW F7t ZQ.

2.1.5 ringTimer -> 0| ¥ = &0 22|&X|, A4 S2AUCHH D& UY
2 FAAUX| FH 2R,

2.1.6 ringRR -> #o| ¥ = & 22|EX|, A% SAUCHH NE Y
FAUX| FH= ER.

2.1.7 selectMenu -> selectMenuE A¥sl= HEL 290X 7|2 H
2. 9tk showMenu MEJO|A selectMenuE 3t= Z{0|2tH S 7|5
7t 3l 53 80| Ct2oz S| ofs.

2.1.8 checkMenu -> &3} & O&F7 4701L O £=H Z27t St
e SNHol Yooz £¥ W 13 7|50 ofL2td, =2 ¢
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2.1.9 changeMenu -> 2t 2ottt HESO| oJ0jsH=7 Ct2B2, M
CH&Q HE Yo 7|8 Y.

2.setTime

Response

User

2.1.1

Response

2.1.2

Pre-Requisites =7}




2.1.3

Pre-Requisites =7}
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2.2 Stage 2033 (page 23) : Define Domain Model

221 7 BixS9 QnjE FH 7|&5HK| B3,

Response | Z2ME L{|E9| XIO|2 TGH 8 x

2.2.1




2.3 Stage 2034 : Bls.(GHIE 18 & A Z HEF)
Response R1.1 showTime | ->1. 1. showTime 1: enterSetMode
23 R12 setTime ->2, 2. setTime =123 2: exitSetMode

R2.1 showSW | -»3, 3. showSW 3: timeSetMode
R22 startSW ->4, 4. startSW ->4 4: startSW
R23 | saveRecords |->5. 5. saveRecords ->5: 6 5: Record
R24 stopSW ->6. 6. stopSW ->T: 6: showRecords
R25 resetSW ->T. 7. resetSW ->8 7: pauseSW
R 3.1 showAlarm | ->8. 8. showAlarm 8: resetSW
R32 | selectAlarm | ->9. 9. selectAlarm ->0; 9: selectAlarm
R33 | checkAlarm | ->10. 10. checkAlarm ->10: 10: activate
R34 setAlarm | ->11. 11. setAlarm ->1: 22 11: | 11: changeAlarm
R35 ringAlarm | ->12, 12. ringAlarm 12: stopAlarm
R36 stopAlarm | ->13. 13. stopAlarm ->12: 13: changeTimer
R4.1 showTimer | ->14. 14. showTimer 14: startTimer
R42 setTimer | ->15. 15. setTimer -1 2013 15: pauseTimer
R43 startTimer | ->16. 16. startTimer ->14: 16: resetTimer
R44 stopTimer | ->17. 17. stopTimer ->15: 17: changeDice
R45 | resetTimer |->18. 18 resetTimer ->16: 18: rolIDice
R46 ringTimer | ->19, 19. ringTimer 19: changeRR
R 5.1 showDice | ->20. 20. showDice 20: playRR
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2.4 Stage 2036 (page 36) : Define Operation Contracts
2.4.1 changeTime -> setTime 0|2t 0|50| ZXA7| HA,

2.4.2 showRecords -> saveRecordsH| A stopSWY [ 7|50|2t1 7|&
WX L7 Lo HE,

2.4.3 changeAlarm -> setAlarm 0|2t 0|20| ZA}7| HAE
2.4.4 changeTimer -> setTimer 0|2 00| ZXt7| B,
2.4.5 changeDice -> setDice 0|2t 0|S0| ZA7| HA.

2.4.6 changeRR -> setRR 0|2t O|Z0| ZX}7| HA.

Response | changeTime, changeAlarm, changeTimer, changeDice, changeRR
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2.5 Stage 2039 (page 54) : Analyze(2030) Traceability
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3.1 Stage 2044 (page 31) : Define Interaction Diagrams

3.1.1 setTime :

CHO]O 12| enterSetMode(input)2 X|Z7HX| 2A10f HolH
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3.1.2 saveRecords :
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3.2 Stage 2045 (page 44) : Define Design Class Diagrams

3.2.1 Time(from Function)

- getSystemclock(), getclock(), updateTime()O|2t &£ €M REIAMON
AL AX| L.

- enterSetMode(button)2t &M A0 HAIZ|O Us B Of7f 7t

LX|SHX| Q=L
3.2.2 Alarm_Manager(from Function)

- B stage®| selectAlarm(int)?} Ef stage@| selectAlarm()nt MY =
Of 7R =0 &LX|7} EXjetct

- up(), down(), getDis(), &= MECt

3.2.3 Alarm(from Function) :

- getGapTime(t1,t2), isbuzzer(), setBuzzer(b), getBuzzer(), setBuzzer(b) &=
£ 2 2N YA UAX| L.

3.2.4 RR(from Function) :

- up(, down(), getBuzzerFlag(), setBuzzerFlag(), getDis() E=+= @& =1
Aof] FAIZIf RUX| BECEH

3.2.5 Select_Mode(from Manage) :
-  SelectMode()2t= B M 200 HAIZ|O| RUX| BCL
3.2.6 Stop_Watch(from Function) :

- updateSW(), pauseSW(}, resetSwW() Bt M 2o HA O] R}UX|
CH.

-  showRecord(}2} showRecords()2| X7 4 2040 FHA=N U=
Zdnt F@2(SHX| BCt.

3.2.7 Timer(from Function) :

- getBuzzer(), setBuzzer(), setBuzzer(flag), setBuzzerFlat(flag),
updateTimer(), pauseTimer(), getDis() =i 4 20AM0 FA|IE|0] R2UA
x| st

3.2.8 Random_Number_Generator{from System_Support)

- setModeMumi{mMNum) B 4 2040 HAZO RUAX| SECE

- getRandom() Bl 4 23A0 BAIZO U= B2 OH7HEE =2}
B X|BHX] W=t

3.2.9 Buzzer(from System_Support)

- Buzzer XpH|Of] 2t Fo| T FAls = 2EaMo=E LE2ERUAX] SSCL
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3.21~3.28
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Alarm_Manager
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- void
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-s=tTime(): void

~axitSetMode(): void
~changeRRicheckc int): vaid

-playRR(): void

-extSetModz0): vaid
~setDice(check: Int): void
~changeDica().
—roliDice(): vaid

Atarm
{from Function)
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-buzzerFiag: int
-buzzer: Buzzer

-sc: System._Clack2
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“buzzerFlag: int
-buzzer: Buzzer

=c Sysiem_Clock
“hour- int
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secint

—record: inf*"]

-top int

-top2: int

—dis: intf"]

-srun: int

—rec intl']
ecansirucions+Siop_Watch()
-Record(): void
getRecard(): 7]

-updlate SW(): void
+runfchack: int): void
~showRecords(): void
-StAnSW(: void

+run(input: int): void

“resetSW(J: vaid

-exitSetMode(): void
iang=Timer(input int): void
id

Random_Number_Generator
{from System,_Support)

“modeNum: int

—random: Random

‘ecanstructor+Random_Number_Generatar()

+setModeNum{mhum: in): void

+getRandomd): int

: voi
+starTimer(): vaid
+pauseTimer(): void

sresatTimer): void

Time)
+getinform(): im]

-geGapT e 12 gD ine]
+acivate(): void
+changeAlarm(check: int}: void
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(from System._Support)

-me: int

“mesage: JLabel

System_Clock
(from System_Support)

sec:int
it int["]
lag: int

“ccansirucione+System_Clock(m: int, o int. 2 int - i, m2: int, = in),
+Fiag(: void

wrun(y

+getClock): in*]
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+stopBuzzer(): vaid
0: vaid

+Flag(: void
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3.3 Stage 2046 (page 45) : Design Traceability Analysis
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4.1.1 Stage 2066 (page 12) : Testing Traceability Analysis

iz ¥ V8 § X WARAcR o s 271528, A HHE.




Response

3.3~4.1.1

5: Record- 10

-5 startSW()-> :6

:5 getSystemClock(): int

6: showRecords- 8,9 -6 run()-> :43 :6 startSW() - void Record()
7: pauseSW- 11,12 -7 updateSW()-> :10 :7 showRecords() : void getRecord()
8: resetSW- 13 -8 showRecords()-> :7 :8 getRecord() : void updateSW(Q
9: selectAlarm- -9 getRecord()-> :8 :9 Record() : void Stop showRecords()
14,15,16 Watch
10:activate- 17,18,19 -10 Record()-> 19 210 updataSw( : void
11: changeAlarm- 22 -11 pauseSW(-> :11 11 pauseSW() - void
12: stopAlarm- 25,26 | -12 updateSW(-> :10 112 resetSW() : void
13: changeTimer- 28 -13 resetSW( -= :12 113 selectAlarm() - void selectAlarm()
14: startTimer- 30,31,32 | -14 selectAlarm(input)-> ;13 | 14 enterSetModef() : void Alarm
: : Manager

15: pauseTimer- 32 -15 selectAlarm(input)-> :13 | *13 exitSethode() : void
16 resetTimer- 33 -16 getinform()-» :31 116 enterSetMode() : void resetTimer()
17: changeDice- 35 -17 activate(-» 32 A7 changeTimer(input : updateTimer()

Integer)

- void
18: rollDice- 37,38 -18 getSystemCleok(-> :5 18 exitSetMode() : void changeTimer()
19: changeRR- 40 -19 getGapTime(t1,t2)-> 37 | *19 startTimer() : void

Timer

2

=

playRR- 42,43,44

-20 entersetMode(-> 114

:20 pauseTimer() : void

2

- selectMode- 45,46

-21 enterSetMode()-» :33

:21 resetTimer() : void

22: checkMode- 47

-22 changeAlarm(Button)-
>34

MEgotd 7t=d2 =8

:22 updateTimer() : void




